
 
Find a closed form: 

𝛀 = ∫ 𝐥𝐧𝟐(𝟏 + 𝒄𝒐𝒔𝒙) 𝒅𝒙
𝝅

𝟎

 

Proposed by Bui Hong Suc-Vietnam 

Solution by Pratham Prasad-India 

𝛀 = ∫ 𝐥𝐧𝟐(𝟏 + 𝒄𝒐𝒔𝒙)𝒅𝒙
𝝅

𝟎

= ∫ 𝐥𝐧𝟐 (𝟐𝐜𝐨𝐬𝟐 (
𝒙

𝟐
))𝒅𝒙

𝝅

𝟎

=⏞

𝒚=
𝒙
𝟐

𝟐∫ 𝐥𝐧𝟐(𝟐 𝐜𝐨𝐬𝟐(𝒚))𝒅𝒚

𝝅
𝟐

𝟎

= 

= 𝟐∫ (𝐥𝐧(𝟐) + 𝟐 𝐥𝐧(𝒄𝒐𝒔𝒚))𝟐𝒅𝒚

𝝅
𝟐

𝟎

 

= 𝝅 𝐥𝐧𝟐(𝟐) + 𝟖∫ (𝐥𝐧(𝒄𝒐𝒔𝒚))𝟐𝒅𝒚

𝝅
𝟐

𝟎

+ 𝟖𝒍𝒏(𝟐)∫ 𝐥𝐧 (𝒄𝒐𝒔𝒚)

𝝅
𝟐

𝟎

𝒅𝒚 

=⏞

𝒚=
𝝅
𝟐
−𝒚

𝝅 𝐥𝐧𝟐(𝟐) + 𝟒∫ (𝐥𝐧(𝒔𝒊𝒏𝒚))𝟐𝒅𝒚
𝝅

𝟎⏟            
𝑰𝟐

+ 𝟖𝒍𝒏(𝟐)∫ 𝐥𝐧 (𝒔𝒊𝒏𝒚)

𝝅
𝟐

𝟎

𝒅𝒚
⏟          

𝑰𝟏

 

𝑰𝟏 = ∫ 𝐥𝐧 (𝒔𝒊𝒏𝒚)

𝝅
𝟐

𝟎

𝒅𝒚, 𝑰𝟏 =⏞

𝒚=
𝝅
𝟐
−𝒚

∫ 𝐥𝐧 (𝒄𝒐𝒔𝒚)

𝝅
𝟐

𝟎

𝒅𝒚 

𝟐𝑰𝟏 = ∫ 𝐥𝐧 (𝒔𝒊𝒏𝒚𝒄𝒐𝒔𝒚)

𝝅
𝟐

𝟎

𝒅𝒚, 𝟐𝑰𝟏 = ∫ 𝐥𝐧 (𝐬𝐢𝐧 (𝟐𝒚))

𝝅
𝟐

𝟎

𝒅𝒚 −
𝝅

𝟐
𝐥𝐧 (𝟐) 

𝟐𝑰𝟏 =
𝟏

𝟐
∫ 𝐥𝐧 (𝐬𝐢𝐧 (𝒙))
𝝅

𝟎

𝒅𝒙 −
𝝅

𝟐
𝐥𝐧(𝟐) ,   𝟐𝑰𝟏 = ∫ 𝐥𝐧 (𝐬𝐢𝐧 (𝒙))

𝝅
𝟐

𝟎

𝒅𝒙 −
𝝅

𝟐
𝐥𝐧 (𝟐) 

𝟐𝑰𝟏 = 𝑰𝟏 −
𝝅

𝟐
𝐥 𝐧(𝟐),   𝑰𝟏 = −

𝝅

𝟐
𝐥𝐧 (𝟐) 

𝑰𝟐 = 𝑹𝒆∫ (𝐥𝐧(𝒔𝒊𝒏𝒚))𝟐𝒅𝒚
𝝅

𝟎

,   𝑰𝟐 =⏞

𝒚=
𝜽
𝟐 𝟏

𝟐
𝑹𝒆∫ (𝐥𝐧(𝐬𝐢𝐧 (

𝜽

𝟐
)))

𝟐

𝒅𝒚
𝟐𝝅

𝟎

 

𝑰𝟐 =
𝟏

𝟐
𝑹𝒆∫ [𝐥𝐨𝐠(𝟏 − 𝒆𝒊𝜽) − 𝐥𝐧(𝟐) −

𝒊

𝟐
(𝜽 − 𝝅)]

𝟐

𝒅𝒚
𝟐𝝅

𝟎

 



 

𝑰𝟐 =
𝟏

𝟐
𝑹𝒆∫ 𝐥𝐨𝐠𝟐(𝟐) −

𝟏

𝟒
(𝜽 − 𝝅)𝟐 𝒅𝜽

𝟐𝝅

𝟎

+
𝟏

𝟐
𝑹𝒆∫ −𝒊𝒍𝒐𝒈(𝟏− 𝒆𝒊𝜽)(𝜽 − 𝝅)𝒅𝜽

𝟐𝝅

𝟎

+
𝟏

𝟐
𝑹𝒆∫ 𝐥𝐨𝐠𝟐(𝟏 − 𝒆𝒊𝜽) − 𝟐 𝐥𝐨𝐠(𝟐) 𝐥𝐨𝐠(𝟏 − 𝒆𝒊𝜽)𝒅𝜽

𝟐𝝅

𝟎

 

 𝑰𝟐 =
𝟏

𝟐
(𝟐𝝅𝐥𝐨𝐠𝟐(𝟐) −

𝝅𝟑

𝟔
) +

𝟏

𝟐
(
𝝅𝟑

𝟑
) +

𝟏

𝟐
𝑹𝒆∮ (−

𝒊

𝒛
) (𝐥𝐨𝐠𝟐(𝟏 − 𝒛) − 𝟐 𝐥𝐨𝐠(𝟐) 𝐥𝐨𝐠(𝟏 − 𝒛)) 𝒅𝒛|𝒛|=𝟏

 

𝑰𝟐 =
𝟏

𝟐
(𝟐𝝅 𝐥𝐨𝐠𝟐(𝟐) +

𝝅𝟑

𝟔
) 

∫ 𝐥𝐧𝟐(𝟏 + 𝒄𝒐𝒔𝒙)𝒅𝒙
𝝅

𝟎

= 𝝅 𝐥𝐧𝟐(𝟐) + 𝟐𝝅𝜻(𝟐)  

 


